Bellwork Alg2  Wednesday, December 12, 2018

1. In the xy — plare, the line / contains the points (2,6) and (8,10). Which of the following is an equation of
line [?

A)y=%x+14 B)y=ix—2 C)y=2x+6 D) y=8x+10

)

6x4y8

2. Ifx = 0, which of the following expressions is equivalent to

A) 8x%y* B) 4xy* C) 4x7%? D) 4x1y*

3. If2y = x+40 and 3x = y + 20, what is the value of x + y ?
A) 28 B) 34 C) 38 D) 44

4. The table below shows the distribution of US states according to whether they have a state-level sales
tax and a state-level income tax.
2013 State Level Taxes

State sales tax | No state sales tax

State income tax 39 4
No state income tax 6 1

To the nearest tenth of a percent, what percent of states with a state-level sales tax do not have a
state-level income tax?
A) 6.0% B) 12.0% C) 13.3% D) 14.0%




5. x+y=17
xy =172
If one solution to the above system of equations is (x,y), what is one possible value of x ?

6. Ax+By=C

In the equation above, 4, B, and C are positive constants. Which of the followmg could be the graph of
the equation in the xy — plane ?
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T Note: Figure not drawn to scale
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The area of triangle ABC above is at least 48 but no more than 60. If y is an integer, what is one possible

value of x ?
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The total number of followers of a Mars rover’s social media account is 1,764,000, as summarized by age
in the graph above. Which of the following could be the median age of the followers?

A) 37 B) 29 C) 20 D) 16
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The total number of followers of a Mars rover's social media account is 1,764,000, as summarized by age
in the graph above. Which of the following could be the median age of the followers?

A) 37 B) 29 C) 20 D) 16
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